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The op-amp operates in the linear mode. Using an appropriate model of the op-amp,
derive an expression for v, in terms of not more than iy, ia2, R1, and Ra.

soln: We erage the oF~ﬂmP and assume OV
adross -the op~amp ‘LnPM'l:S. '

We usé Ohm's law For v-drops across R'S-
Vi= (R, and 1= R
The R's are (n series with ¢ sources,



The dotted Line shows +the only v-loop
het quslmj 'throuﬂh a current Source.

-t R -0V =-4{,R; =V, =0V
We substitute Ffor U, and i..
= laz®p = Lg Ry = Vg = OV

Solvinﬂ for Vo, we have the QxFr*essf,on
we seek,

-

Vo = = g2 K| = Lq R,



